


-ידי לע םכוס
יול יאורלא

31/7/24

2 /id 2006/113x -173 Tax 71618 YMIS-lIN1, Und 101168
:3 /2 1999 /23x/

2xd 2006/14)

Esteg



-ידי לע םכוס
יול יאורלא

Z
.

K
.

·Sund Nati Mid N01 #YMi Nand Ne Noi xgidi

↑ in jax
,
ende do no fail : Nig 1316 , Panda You

i 'es pay fith .1sdda file fig is 1 <Nine 14

·I's'ag1 is d 111k isNide no fold yes pr

n
+ y

T - CoS() = Ty
=

-
a

L

4x = T sin()
7 + X

~ my

2 . : y 73 : X > 3

2Fy = 0 EFx = m . a

Ty - mg
= 0 Tx = M . a

T - cos(2) =

my
> T : Sini) = m . a

my my sin()

T =

CoS(d) cos(o)

= M = c

Mg · tan() = m . a

a =

y
. + an(d)

a = 10 - tan 130)

I'd' a= 5 . 77 mys
"

Esteg



-ידי לע םכוס
יול יאורלא

D .

· I'd' in Xem O Fin TON N Is

·TNOX Kn pkx 131/ /1-119) & YOxn Sax :pol NJ's

I"3/110 X 1136 Ni Ki fran ind in N pr EFX = 0 : /O NN'
· Anja also per pri i'd

2 .

a = 2 ·

5 .
77

a =

g · tancd

fancos = ag =

2 . 5. 77

= C = 49 . 08a
107

D
.

: x'd'731kX NOX- y11 96K

# 1 &&k /k90k1 y&
a

Taxis 3da1 if isk 3

41'd'6011 Rya y ·>ind 13/ 45' Jos S
Mixe i 713 iNida 1k & V

>

1414. &zi yalky iS

ed rid i eide does 2
,

" 3

Inte Noor& N , pr

1
.

<)k/x /31121x/xx
fan of's g') 1/1) Mg tancol = m

: 17 i
a =

g
. +anx)

·Mem xoNxUx If C yesi - Load Mix I In

Esteg



-ידי לע םכוס
יול יאורלא

2 .

a = 2 ·

5 .
77

a =

g · tancd

fancos = ag =

2 . 5. 77

= C = 49 . 08
107

D
.

: n'd'731kX NOx-y11 06K

# 1 &&k /k90k1 y&
a

Taxis 3da1 if isk 3

41'd'6011 Rya y &
·>ind 13/ 45' Jos S

Mixe ed , 12 itide 1k
V

>

1414. Pain yalky is

ed find l chede does

,

"E
3

Inte Noor& N , pr

1
.

<)k/x /31121x/xx
fan of's g') 1/1) Mg tancol = m

: 17 i
a =

g
. +anx)

·Mem xoNxUx If C yesi - Load Mix I In

3 e 1999 /x

Esteg



-ידי לע םכוס
יול יאורלא

3.

+Y
A

Tzy = Tz. cus(2) Try = Ticos(2)

M T

Tz Tr

> X
Tzx = Tz : sin() Tix = Th · Sin (6)

v Mg = - 500m

KC
.

: Y >3 : X >3

EFy = 0 [Fx = 0

Te COSC2)-Tr :

cos(a)-mg = u Trsin(2) - Tc Sin() = O

T1 = Tz = T Thi Sito) = T2-Sino

2 . T·

cos(6) = mg Te = Tz

mg
T =

2 . CoS(2)

50 . 10

T =

2 .

COS (20)
= 266 . 0Vn

Esteg



-ידי לע םכוס
יול יאורלא

D -

:I's'6 <Don

Sadie
,

X <3 of an NA & for <xllll ye ,
Ex & & E

· i Tidy NNxa-cide ,Sa , 17 : 32 An of

: &Nad (xon

mg
T=

2 .

COS(O

2 +, 19) i > +x 6614 coscol-1 . ION coscol
, 2x C : 0 E

7.

Efy = 0 : Now Ge Nixt Mind Mods Mid XST

·

a= 0 NIDR NXX /In , 11414 / N

T-

mg = 0

T = my = 500m

: 1311x * No xi yes did

EFy = m . a

T - mg = m . a

T = mg + m . a

T = 500 + ma =) T > my

Non eg11xx ima Janet i . Em
, prizit-y ,

ed 131kx & Midd

EF= m . a :x601xx18x
TipOX NISM /1130 Nik iS Noy 43/ki +171 +31 M > Than xi) /II

· pr odors ea

T > mg

Esteg



-ידי לע םכוס
Estegיול יאורלא


